MAT 223, Discussion Questions 9.16

1. When someone says they are above the 90t percentile, what does that mean?
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2. If you have an ordered list of 38 terms, and you want to detefmine which element in the list is
the 85" percentile, how do you do it? Which element is it?
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3. What percentile js the 14" element in the list?
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4. What percentile is the median value? What is the percentile for the first quartile? Third

quartile?
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5. Consider the data set
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€. What is the interquartile range (IQR)?
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6. How can you tell from a boxplot If the distribution is skewed or symmetric?
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7. What temperature represents approximately the 38t percen:tile based on the box plot shown?
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Find the shaded area for the shaded region usin
a. Find the shad
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g the table of #—values from the textbook.
ed area under the curve if the mean is 0 and the standard deviation is 1. The

cut-off scorehere is z = —1.28.
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b. Find the shadpd area under the curve for the cut-off value z = 0.5.
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9. What is the stan
and the standard
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10. If a student takes
a score of 25, do

dard score of someone whose |
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they have a higher or lower score than anot
which has a mean of 1498 and a standard deviation of 199, o
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Qis 135 if thq mean of the distribution is 100

deviation is 15?
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the ACT, which has a mean of 21 and a stan' ard deviation of 5.2, and obtains

r student who took the SAT,
ained a score of 1780.
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11. Who is smarter? !
or someone with :
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>omeone with an 1Q of 148 with a mean of 100 and a standard deviation of 15
N 1Q of 167 with a mean of 110 and a stand d deviation of 207?
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12. The article at http:

/ww2.kqed.org/mindshift/2015/07/2 1/how}teaching-with—svmmetrv-

improves-math-un

derstanding/ talks about using symmetry to

How is symmetry e

prove math understanding.

mployed in teaching the topics in this chapt e




